Multiplication feuille 3

Ex9

Calculer
237x10=22 7
23.7x100=92. 57 O
23,7x1000 = 2. % 7O

Calculer

158x100 =45 300
158x0,01 = .1, 52
158x10= <0

Calculer
75x100=.7%S2
0,18 x 0,01 = ., 0018
24x10=...2 40

Compléter chaque égalité.

0,754x 490 =754
1852 x G201 =1,852

Compléter chaque égalité.

a. oo x12,7=1270
b. 8,7x 10 =87

C.

7,0001 x1c.a00 = 70001

d. 0,9x .4 =0,09

d. 237x0,1=..2, 57
e. 23,7x0,01=0,2% 7
f. 23,7x0,001 =, 0237

d. 158x0,001=.0,15%
158x1000= .4 S § <€O°
f. 158x0,01=..4,5¢

@

1458x0,001 = .}, 658
0,004x0,001 = ..©, ocovc
f. 7,89x0,01=.¢9 ©78%

o [k

c.O.4 x48 =48
d. 0,72 x40 =720



